1 nug = 15r-CM-c'2=
Cuna F HBIOTOH H M-KTC 10"H
1 kp =9,80665 H
1 ILHH/CM2 =10 IMa=
10" H-m™
1 arm. =101 325 1a =
101,325 xIIa
1 6ap=10’Tla=0,1
[laBiienue P MaCKaJIb ITa Kr - M Hom ™2 MIla
1 MM pr.cT. =133,322
Ila
1 Torr = 133,322 Ila
1 psi =6,894757 klla
1T1=10"Mac=10"
Junaammdeckas MMacKallb- 1 -1 2 Hoow
BA3KOCTb N CCKyHOa Ha-c KroM e Hem 3 1 1
1cIlI=10"krMm -¢c =
1 mlTa-c
Kunematnueckas KBaJZIpaTHRIH 2 2 -1 Ma-c-mkr! 1Cr=lem’c'=
BSI3KOCTh v MeTp Ha /e Mee H-m-ex-kr' 10 M
CEeKYHIY
Jueprus, lapr=1 eMiTct =
pabora, J E JIKOYJTb Jx kI M2 ¢ H-m 1 nug-cM = 107 Jx
KOJIMYECTBO
1 xan =4,1868 JIx
TEIIOTHI
MoONIHOCTB,
TEIIOBOM MOTOK, 1
MOTOK 2 3 H-wmc! I 3_17)F/C =1 H%H.CM.C_l -
P BaTT Bt KI*M - C -1 10" Br =107 HMm¢c =
HU3JIYYEHHUS, JIx-c 107 I[)K-c'l
MOIITHOCTD
U3JIy4eHUS
Ilormoniennas
A03a o 2 2
D ——— D rpaou I'p M“C l pan=10"Ip
U3IIYy4CHUS
DneKTpuuecKoe
HanpsHKeHue,
AIEKTPUYECKHI
MMOTEHITHA,
ANEKTPOABUKYIL] U BOJIBT B K M 2c oA BrA™
as cuIa,
pa3HOCTh
3IIEKTPUYECKHUX
MMOTCHINAIOB
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